AERL3 e (-4E)

- ~E8 L (e RAz 3RS 100125 2 4)
PR OF L EASEGE (A AR BE ) BREA L L0A
(A~ i~ B 1808 ) B EA 5 144
(A~ ks ME 4 360 &) HipiEes i 1.8 4
P FTHRE ;kr;\m?spézpﬁ—”ﬁﬂr“’ifppa ) o R EES prT s
BAAf REax (FFTARLTR) » S5 5 RBRZFRA

S BMF (Dre B BHBRE D04 MEF AL 1T0 24 )
EpF il FFRES S A=0.34 B=0.54 Ct =074 -
2~ PP A2 #0F BT HEACLa)BEiE HFELSE 0.1 4
Bldo t Jkfsm TR~ ST R R o B S R - SHRBEF (AL
EREET ) SRR o IS AD B TR
wﬁb/}’-’iﬁﬁ’f ............ £ o
S AR EITT AU B E MAF L EAFF % o

E\Ef?ﬂk:(d%\iif"\ "5)—‘;,1100 )
B fEph F L R EA S A—0.3/> B=0.5A Crzt=0.74
2 B¢ AF| N2 d i BT HE AC B E R FESZ 0L A -
B4 w,fv‘%u\g”a"& @]& MESRIR LR R S S < S Sl
280 ~ EAEA 1/2 (180 &) ~m 4T ~ plgsp
ggﬁrlﬂl—r ............ g o

BB <ER 70~907f"/‘>
FiEp 3 il vF TR ES S A=0.34 B=0.54 Ct =074 -
2CRPIP A N2 B iE BV HLACL )RR IE B FELSZ 014 0
[ E IF"J%R‘ EN@\@*‘ f;ﬁﬁ%ﬂ*‘ Ti'i—éf’jﬁ%ﬂ*‘
TR /2 eeennn £ o

T %'? ng%ﬁc"#gﬁc’%l'}?‘z

Ersdei®ode™ (THE THBMUEHTE -F Jok
5 - 6 @& it - 4,00 4
3 -4 @i - 6.00 4
1 -2®#&iT - 8.00~
2 #iT - 10.0 4



